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The consumer price index (Hase 6. 2018 smpunle’ss sredam)
vear 2011 = 10U0) was 125 in STEESTESIPS 125 k1T,
January 2018, One rupee coin {meflownsmoudnge 2011 = 100).
worth in January 2013 in terms mreslrunameufiess Gnle] Gamenden)
of the hase vear is ... amuoth 2018 soygrud mhinal gy a0
a) &0 paise MOEMETEISE Diea ...
b} Bs 125 al 80 aawre
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d) Rs. 2
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Zelling off part of the equity of & eigsesidn ondalampes
Puhlic Sector undertakings to ahniled: oriamsaedled Al
the nublic iz known ag ..., QIACSTHEIIY. oo e REHTIA
&) eapital accumulartion Lk
bl investmen: B DB MU e
v) disinvestment bl crllefmaie
d) none of these £) @nerizgaalo

d) suswmeg
Calewlate the range of 20, 25, 28, 8. adof (range) snamensdeys. 20,
32, 36, 40, 30, 55, 72, 73, 25, 28, 132, 36, 40, 50, 55, T2, 75.
The basic economic activities 9. moslouonm cooTuEElds orudamRm
include ... emglal gubansmemat .,
a} distribution a) nfemane
b} production b} gehnicems
¢} consumption £) BausEltta
d) all of these d) ruomgoe
Find out the relative measure of 10. moroseals  ieddenm  eegol
dispersion, Q@RI EaMmaETh.
a) Coefficient of correlation a)  MUanEUmD LEmIEsD
b} Standard deviation by @amd roellaame
c) Coefficient of mean deviation o} @owy cuydlmdm CEn e
dy Range d) el
5 CGet the | atest Qgestion papers,

Not es and study resources.
Visit studentmap.in

Turn Over


https://studentmap.in/

S'I'IIIIEIﬁMAP


https://studentmap.in/

Answer any six gquestions from

16 to 22, Each carries three

FY 35

16 gymad 22 cuanwss saonyesgid
agemeleys 6 ageponiind grmeaayjmid.

scores. {8 % 8 =18) | 3 miaasod alimo. {6x3=18)
16. Complete the table, 16. auglen aljbomelem.
Mode of Data Collection Advantages Disadvantages
ORTE SRaen dake.dh emgemadd D50

h?ersonal Interview
ipsiElon dosinge

P PR

Ry

Cannot be used by the illiterates
tinsspnonnulieissd pniewatikeanid

Relatively high
response rate
ogao baflaaon paibom
o salasnan alinde

17. Catagorize the following

features of the economies of

India, China, Pakistan under

three heads.

a) One child norm

b} High fertility raté

¢) Economic reforms in 1991

dy High density of population

¢} Highest Human Development
Index ‘

fy High Infant Mortality Rate

18, The stagnation of Indian
agriculture during British

. period was mainly caused by the
policies of colonial government.

Briefly explain that policies.
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¢l 1991-ee o omieTas
ASlndEnmeo
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3. the be

rural

FExplain arcas to

addressed for
development.
26.

Identify the challangez faced hy

the pawer sector i India,

27. Draw a pie dlagram for the

foliowing data -

Lakhsz)

S
218 {

Rural Workers (In

\rﬁt-guf.n salaried

| Belf-emploved

| e |
ast ae | 156

|_Cas: “asual wage labours 56 |

Answer any two guestions from

28 to 30. Each carries five scores.

(2x5=10
28. Point vut the properties and five
degrees of correlatinn
coefficient,
29, Caleulate the quartile deviation
tor the following data :
Class Frequenc} |
010 3 !
|
10— 20 | 12 |
|
20 - 30 | 15 |
| |
30— 40 | 10 |
\ |
a0-50 5 :
30, Critically evaluate the impact of
New Economic policy in
Agriculture and Industrial
Sector.
Cet the latest Qu
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5 migmad alime, (2 x5 =10
28, maneaumy 670 En T €10

moafletitmegn M amomdhas

248l SODaT e . .
29, mossnencsyem aomenssld ofimmo
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L 0-10 8 ,

| 10-20 12

I 20-30 | 15 :

b 30-40 ! 10 1
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